C:# Restar decimales

Nombre;

Resuelve cada problema.

1) 18.651 + 14.26 =

2) 66.2+41.7=

3) 27.265-4.102=

4) 705+484=

S) 47.7-23.084=

6) 59.47 - 45.4 =

7) 435-25=

8) 13.03-10.989=

9) 585-11.79=

10) 17.871+7.3=

11) 47.94+37.117 =

12) 94.35+9.36=

Respuestas

10.

11

12.
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ﬂh Restar decimales

Nombre: Clave De Respuestas

Resuelve cada problema.

1) 18651+ 14.26= 32911

2) 66.2+41.7= 107.9

3) 27.265-4.102=  23.163

4) 705+484= 118.9

5) 47.7-23.084= 24616

6) 59.47-45.4= 14.07

7) 435-25= 185

8) 13.03-10.989= 2.041

9) 585-11.79= 46.71

10) 17.871+7.3= 25171

11) 47.94+37.117=  85.057

12) 9435+936=  103.71

Respuestas

1. 32911
2, 107.9
3, 23.163
4 118.9
5, 24.616
6. 14.07
7. 1.85
8. 2.041
9 46.71
10. 25171
1. 85.057
12, 103.71
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Restar decimales

Nombre;

Resuelve cada problema.

Respuestas

25.171 24.616
2.041 1.85
118.9 23.163

107.9
14.07

46.71
32.911 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

18.651 + 14.26 =

66.2 +41.7 =

27.265-4.102 =

70.5+484 =

47.7 - 23.084 =

59.47-454 =

4.35-25=

13.03 - 10.989 =

58.5-11.79=

17.871+ 7.3 =

10.
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